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Geometry Name
Worksheet 9.5-9.8 ' Period
1. Show that the parallelogram whose vertices are (-1, 3) (2, 1), (3, -2), and (-2, 0)

~ Find the diagonal of a rectangle whose s1des are 10 and 24.

~Find the Eén’th:__ the per ‘éa’se of the isosceles trapezoid. 15 12

is not a thombus.
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Using the ﬁgure where triangle VRT is a l‘lght tr1ang]e

and segment VS is an altitude to segment RT, ﬁnd Y
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fo the penmeter of AVRT.
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{ T 7. - “Given: The regular square pyramid with altitude PR and slant hcightﬁ's
e - perimeter of JKMO =40, and PK =13, .

Finda. JK b. PS ¢ PR )3’&&;@ 3
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- PADIMis a regular square pyra:rmd Slant height PR measures 10, and the base
~ diagonals measure 12«/_ -

10.  Ifthe dlagonals ofa rhombus are 16 and 12, what s 1he perlmeter of the
rhombus? S
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Geometry Name

Worksheet 9.5-9.8 - ' Period

1. Show that the parallelogram whose vertices are (-1, -3), (2, 1), (3, -2), and (-2, 0)

is not a rhombus. :

2. Find the diagonal of a rectangle whose sides are 10 and 24.

3. Find the 1engfh.0f the upper base of the isosceles trapezoid. 15 12 15
- -
|
35 |
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4. Find BC and AB.
| 20
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. 5. Find the sides of a square when the diagonal is 6 in.
_ e N4
6. Using the figure, where triangle VRT is a right triangle
and segment VS is an altitude to segment RT, find 6
a. VS _. | |
b. ST S R 60 30
c. VT L S
d. The ratio of the perimeter of AVSR

to the perimeter of AVRT'.




7. Given: The regular square pyramid with altitude PR and slant height PS,
perimeter of JKXMO =40, and PK = 13,
Finda. JK b. PS ¢ PR

8. PADIM is a regular square pyramid . Slant height PR measures 10, and the base
diagonals meastire 12\/5.

a. FindID.

b. Find the altitude of the pyramid.
¢. Find RD:.

d.

Find PD..

9. Find the diagonal of a cube if the perimeter of a face is:20. (Draw a figure.)

10.  IH'the diagonals of a thombus are 16 and 12, what is the perimeter of the
rthombus?
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' ‘Geometry |
Chapter 9 Review Worksheet ‘#{

: _ For #1-4, solve forx: -

6. Solve for x.

7. Solve for 7.

Name

»
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o ..:_: .11 Fmd the coordmates OfF

- e ;:12 Flnd the length of the median from L to F

9. Simplify @ |
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'_.For quesnons 13 and 14, in cncle 0 OA—IO and mEF =72°

13 Fmd the length of arc EF w[-ém c)( mrmm)
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14. Find the area of sector EOF.
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For questions 15-16, ABCD is an isosceles trapezoid. BC=7 and AD=19.
15. Find the length of an alﬁtudé of the trapezoid.
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16. Find the xac{ perimeter of the trapezoid. =
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17. Jill walks 0.7 km south, then 0.8 km west, then 0.8 km south. How far is she from her starting point if
she measures diagonally? by g
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18 ABCD isa rectangle If AD=19, AE=9, AB—24 and F is the mldpomt of AB
_ Fmd the perimeter of ACEF . : . s
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19, The slant helght of the regular square pyramid shown is 34 and the altitude of the pyramid is 30.
Fmd the length ofa 31de of the base of the pyramid. _
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20. Find the height of the rectangular solid whose base is 7 by 24 and whose diagonal is 50.
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Geometry ' Name
Chapter 9 Review Worksheet #1 Period

For #1-4, solve for x:

. 3 1.

0 5 .-.'.Firic.l, in simplified radical form, an altitude of the equilateral triangle shown with a side of length 12.

12

6. Solve for x.

7. Solve for z.




8. Find the perimeter of a square with a diagonal 12. (Draw a picture)

8.
9. Simplify /54
9.
N 4
10. Simplify \/—;
10.
For questions 11 and 12, F is the midpoint of WO .
11. Find the coordinates of F. H312)
. 09.9) 11.
F
' . W{1.7}
* 12. Find the length of the median from L to F. >
12.
For "questions 13 and 14, in circle O, QA=10 and mEF =72°
C13.F md the length of arc EF.
e 13,
14. Find the area of sector EOF.
14.
For questions 15-16, ABCD is an isosceles trapezoid. BC=7 and AD=19.
15. Find the length of an altitude of the trapezoid. c 5
15.
16. Find the exact perimeter of the trapezoid.
60° 60° 16.




17. Jill walks 0.7 km south, then 0.8 km west, then 0.8 km south. How far is she from her starting point if
she measures diagonally?

17.
18. ABCD is arectangle. If AD=19, AE=9, AB=24, and F is the midpoint of AB
Find the perimeter of ACEF .
18.
B C
F
A E D

19. The slant height of the regular square pyramid shown is 34 and the altitude of the pyramid is 30.

Find the length of a side of the base of the pyramid.
: : 19.

20. Find the height of the rectangular solid whose base is 7 by 24 and whose diagonal is 50.

20,

*. 50




Answer Key, Geo Chapter 9 Review Worksheet #1
#l. 4
#2. 10

438
#4. 82
#5. 643

#6. 14
#7. 6

48. 2442
#9. 36
#10. 3%1

#11. (5, 8)

#12. 245

3

 "#14; 207
w5 6
#16. 50

#17. 1.7

#18. 41++/505
419, 32

#0. 2543




| u Geometry | Name \('Uﬂ

Chapter 9 Review Worksheet #2 . Period

For #1-4, solve for x:

(3574)
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- F':(")'r 'questions 11 and 12, F is the midpoint of WO .

'I 1 Flnd the coordinates of F. : s L(s,‘?) _: {’ 2 2 }

9. Simplify J_ B
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12. Fmd the length of the medlan from L to F.
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For questlons 13 and 14, in circle O, OA [ and mEF = 25

13 Find the length of arc EF.
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For que_stions 15-16, ABCD is an isosceles trapezoid. CD=8 and AD=14,

15. Fihd the length of an altitude of the trapezoid.

16. Find the exact perimeter of the trapezoid.
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point if he measures dlagonally‘?

M

17, Jack walks 0.4 miles east, then 0.5 miles south, then 0.8 miles east, How far is he from his starting
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18 ABCD s arcotangle. If AB=32, BF=14, AD=48, and E is the midpoint of 4D

e
s _,Ew’rg

%

19. The slant helght of the regular S
Flnd the length ofa Slde of the base

. {2
20. Find the height of the rectangular solid whose base is ; by 2% and whose diagonal is.59.
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Geometry
Chapter 9 Review Worksheet #2

For #1-4, solve for x:

1.
8
X
17
2,
3
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3,
4598\ 12
7 45°

6. Solve for x.

7. Solve for w.

12

Name

Period




8. Find the perimeter of a square with a diagonal 20. (Draw a picture)

9. Simplify /63
9.
N 2
10. Simplify \/;
10.
For questions 11 'anc_l 12, F is the midpoint of wo.
11. Find the coordinates of F. La7)
- 1.
Wi{-2,4)
<
E 0(8,2)
L B 12 Fmd the length of the median from L to F.
| 12.
- For questions 13 and 14; in circle 0, OA=10 and mEF = 60°
" 13. Find the length of arc EF. E
60° 13,
14. Find the area of sector EOF. F
| 14,
For qﬁesﬁons 15-16, ABCD is an isosceles trapezoid. CD=8 and AD=14,
15. Find the length of an altitude of the trapezoid. '
Cy B 15.
16. Find the exact perimeter of the trapezoid. : '
60° 60° 16.




i Find the length of a side of the base of the pyramid.

17. Jack walks 0.4 miles east, then 0.5 miles south, then 0.8 miles east. How far is he from his starting
point if he measures diagonally?

17.
18. ABCD is a rectangle. If AB=32, BF=14, AD=48, and E is the midpoint of 4D
Find the perimeter of ACEF .
' 18.
B C
]:'
A E D

19. The slant height of the regular square pyramid shown is 34 and the altitude of the pyramid is 30.

19.

20. Find the height of the rectangular solid whose base is 9 by 12 and whose diagonal is 17.
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Answer Key, Geo Chapter 9 Review Worksheet #2

#1. 15
#2. J10
3. 62

#4. 13

#5. 243
#6. 12

#7. 8
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5. 43
#16:36
#17. 1.3
#18. 120
#19. 32

#20. 8




